Math - Calculus Il REVIEW # 2
1. Simplify: ( the result should have no trig )

(a) sin (arctan (2X3+1) ) ;(b) sec (arcsin (3) )
X

(c) arcsec (- y2)
2. Differentiate:

(a) y = eacan (x+vX _ grctan (e"*ﬁ>

(b) y = sin ( x - arccos x2) ;(c) y=w
X
3. Evaluate: ( exact answers )
1 -1/2 . 1 3X—1
arcsin dx ;(b d
(a) fl X in yx dx ;(b) fo R X

4

f‘/g arctan x dx ;(d) fe x2 (Inx )? dx

0 1

fcos(lnx)dx ; () Ide ;(9) f Jx evx dx
X

fcsc3 x dx (i) fx3 e "1 dx

cos 3X

k P97 dx (] tan 4x + 3x csc x2 ) dx
I [ e <)f( + )

(m) f( X +\/1—4x) dx :(n) Le x3In x dx :(o) f" e sin x dx

1-2x2 0

3 2 _
(p) /-3X +2X X+4 f \/2)(—+ dx

x+1

f x2 cos 5x dx ;(s) f cos? 3x dx ; (1) f cot® 2x csc?® 2x dx

f\/ﬁ x5 cos(x?) dx
0



Answers:

(1a)

(2 a)

(2 b)

(2¢)

(3 a)

(3d)

(31)

(3 h)

(31)

@1

(3m) -% Inj1-2x?| - % (1-4x)*2 + C :(3n)

(30)

21 ap X a2
V9+(2x+1)? x2-4
y/ _ g arctan (x+y/X) 1+ 1 ) ex+\/>_( 1. 1
1+(x+yX)? 2yx)  1+(ex VX 2 \x
/ 2 2X
y’ = cos (x - arccos x2 )| 1 +
1-x*
y/ = iz 1 - arcsec 2X
X\ y4x2-1
5m 3 m 3| 1
— -3 ;B8b) =1In(2) - — ;@3 3 — - —1In4
5 " V3 6D @) - @) 3o - o In@)
Se3_ 2 : (3 €) L cos(In x) + L sin(in x) + C
27 27 2 2
sinfn x) + C ;(3g) 2xeY* -4 /xe¥* +4e¥*+ C

% [ -csc x cot x + In |csc X
x-1
227 . ¢ i@l L
In(2) 3

1 In|sec 4x| + 3 In|Jcsc x? -
4 2

e2n +

1 1
5 5

-cotx| | +C ;(3i) 1
2
+ sin 3x| + C
cot x?| + C
Bt 1
16

_Ey4
65X+1+C

2 3 3
3p) x3 - X s 4nx+1] + C :(3q —(2x+1)B - = (2x+1)*3 + C
(3p) > Ix+1] (30) 28( ) 16( )



(371) %2 sin 5x + -2 cos 5x - —2_ sin 5x + C
5 5 125

(3s) §x+isin6x+ésin 12x + C

31y - H (csc 2x)7 - % (csc 2x)5 + % (csc 2x)° | + C

1
2

o

(3 u) = -

%x“ sin(x?) + x2 cos(x?) - sin(x?)
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